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Instructions for candidates:-

2

3.

This cxam 5. two pars,
Part-1 15 related io Mental Ability Test

Pari-1l relates to Scholnstic Aptihide Test. 1t consisis

of nine subjects, details ofwhich dre given below: -

i) Physics i} Chemisiry
ni} Biology ] Mathematics
v} History vi] Oeography
vit) Civics viil) Economics
ix} English

Each question camics one mark. All questions arc

compulsory.

You have been provided with nanswer sheet (MR
for this question paper. Darken the comrect option of
each question in the answer sheet [OMR) with
black/blue ink

Rough work may be done on the blank space
provyiided,

. There is no negative marking in this question paper.,

D nod nse white Huid on OMR Answer Sheet.
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National Talent Search Examination- 2017, Class-X
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Mental Ability

Direction Question {1-4) there is 4 number series
following a pattern one place is left blank. Find the
answer among the oplions.

] |

26 ; 2. 20
312 e 40
£592.30,160,............

I BOS 2. 790
. 605 - 4, 725
fﬁﬁ%fﬂb,lﬁn,. - |

1, 210 2. 258
3, 252 4, 104
124, 1S9, 127, 142, 130,145, oo,
1. 127 2. 132
3. 133 4, 149

Direction Questions (5-6) Find the missing term in

place of question mark.
5 o T
58] 22 60
| 34 _ z_ajl ‘21
i -
b, 46 2. 24
3. 23 4. 99
f,"'i}\
67 alanb
N e e v 2
11" 14909
LY e "
L. 121 2. 64
313 4. 1
g 3 In a cenain code lapguage "NAME" 15 wnitten as
'OYPA then how will *“TEAM® be coded 1 that
Ianguaga?
|. UCEF 2. UCDH
3. UCDM 4. UCm
B IFMINER AL iz written as QRS TV W and SOUND

12 writtcn as ARCSD, the how will READER be
wrilten in same code?

HsTra darar

fraew yms (1-4) e vt o a2t feat aret 3 it
feg T e Us 98 yEt ot wos et feasyt & 5t

femmuetg=ad
R v o S
1. 26 2. 20
I 4. D
2. 451230 160,........co
1. BOS 1790
3. 695 4. 225
: W ) B D — .
l. 210 2. 258
3. 252 4. 194
4, 124,139, 127,142, 130, 145, ...
b 127 2, 132
3. 133 4. |49
ferewyms (5-6) 'Y s Stet 3wt oefed m
feasuta & |
2 [%lo|
! 18 | 22 . 649
| 34 | 23 : 27
|28 | 14 i ?
S B
l. 46 229
3. 23 4. 99
cAE
i fﬁr s ? fﬁ".
l-,\g' 9 |49 ':
o
y ‘-&_—q
L 121 2, 64
3.3 4, |
fait & o f299 NAME & OYPA fsfes amam )

7

g

e e TEAM e aaat dear?
|, UCDF 2
1. UCDN 4
wed MINERAL § QRSTUVW w3 SOUND §
ABCSD fafimr w@ 37 READER § 6w 39 e
far<' et !




2. SBFEFS 1. QDZCDY 2. SBFEFS

4. TUDVUT 3. UTVDTU 4. TUDVUT
wEd 26 Hawe 1947 § Wigw 09 37 2 AFET 1947
ot few gwar?

1. QDEZCDO
3. UTVDTU
On 26 January, 1947 is SUN DAY, then which day on
2 September, 159477
I. MONDAY 2. TUESDAY 1. MONDAY 2 TUESDAY
3. WEDNESDAY 4. SUMNDAY 3, WEDNESDAY 4, SUNDAY
¥ . o Ria ma ; -
g -'I'."!'t'_l 0. What will be the angle between the minute hand and Az on & U= e 2 u=ht & fire ot pet 2
i honr hand of a clock at 7:357 g 1 T & wifamy a!glgﬂlfﬂﬁﬁﬁliﬁliﬂ?"ﬁﬂéil 4
o ] '_5".-;13 ¥ 2. TT'5"° FI" 4" : 1. 22W%* 5
T 8% ¥ ] - .
I.'r-.'l.""':* g 3 1% 4 0 3 4. 0®
Lasn il AissonofC, Cand B arc sisters, D is the mother of A CETUETT, CHT BE= o5 ID. BEI W TIE D
1. . B, E is the son of I, which one of the following i T Y e feft s faoerse
|f;, _::- eofrect? 4
i . B, ATTHHT |
T % . BATTEETT
- 3. CTEdE 751
. EnF AT aE|

}rie"

1345

1. BEisthe maiermal uncle of A
2. Bizthe grandfather of A
3. Cand E are sisters

Pt

._.-'

4, Eand Aare brothers - i-*.|' L

In & row of children Tecna is Sth rrum rhn:: left &
Meeno i=60h from the right. ITthey interchange their
phoces then Teena becomes | 3th from the left. Now
what place will be occupied by Meena from the

right
I, 4 2 14
3 4. 18

Direction (13-14) Study the letter serfes and answer the
following questions.

W T = W R T WSS  ERH
. aaang 2. anban
. bhbabh 4, bbbah
B i T TS - bach... .. o8 . e
l. i]n:lddl.!l_l 2. addddhb
3. bbbddd 4. addbbb

If & man facing <ast rotates in clockwise direction
452 & then, anti clockwise 2707 then clockwize | BOF

whichdirection is he focing now. W‘

|, South-East 2. Wesl
1. Morh-BEast 4. Sputh L

Drirection (16-17) Question six Mces of a cobe are
painted in suech a way that no bwo adjacent fnees are ol
same colpar, The three colours psed are Hed, Blue &
Gzreen. The cube 15 then cot inte 32 smaller and 4 big
cubes in such 3 way that big cnbe hasg na red face,
Answer the Tollawlng Questions,

I, How many cubes are colowredon three faces?

| | |

e
=

"o ot fem s e A va e s
F I T HE AR wiRG o aes 37 Agd o=t
s fi'e ge o wew g 3t e grelE © WE
v |39 Fevs & o 7 0 SR g itET sl
v Aw winkE fass sers 3 Teait?

. 4 7. 14
315 4. 1%
feaew UES (13-14) nfyat € 55 § yar oo =€t mlt
faasug®
|, azsaan 2. aabhan
3. bhabhb . bhbahb
@ T .1 | Bl i, :
|, bddddh 2, <1d.]¢.dl“
3. bbbddd . addbbb
HEELWWEHWFMJTHE?FEW = Femr
wEFE 45° foamt oo T 3 oo fee wat dr
Wﬁ@ﬂ?fwrfﬂ?ﬂn’tﬁ?#?mmﬂ“
feardt w=h & gt & fom e yeer T3t o=
Sao fore faotfewdFm
| EHE-yae 2, URH
3, Hag-ymm 4. TuE
fegew Yo (16-17) €2 ae w @ (feofawt) 3 femr
gy dar atar famr & fo &7 w'are @t € foafont 3
fe'd faor dor =4t 2 13w, 318 3 03 St g9 At
gftdiferfed R us e ffGvaad @2 Nusg
fedfad vaad e dws fenayiveadad on, fa
sfduzte fair A oot s e dosat 1 Q9w
fag
16, fad wet & faw wirodt & v fapwr 37




2.8
4. 31
17, fawwmany cubes have exactly bwo faces painted?
L 16 2, 20

3. 3 4. 3b

Dvirectlon (1819} Questions match the numbers in
Column I with the Rules in Column [1.

Column I Column I
17 2x'+3

|8 %1

57 b e

2% X'-3x

15 Ix'+]
Which rule the number 28 follows?

1. Zx-1 o |

-

1, ¥-3x 4. +2x
Which number follows the rule 2x"+37
g e r o

3. 18 4, 57

Which of the following words cannot be made from
the word "COMMUNICATION™

. UNION 2. ACTION
1. MusIC 4, CAUTION

Arrange the following words according to
dictionary arrangenienl.

g} WMDY by WRITER
e} WORST ) WORERD

|, caehd Z. adeeh
3. dchae

Select the combination of numbers 5o that the letters
arranged accordingly will form a meaningful word.

I i ] P g = R
| 2 3 q > fi 7
|, 2643137 I. 1345672
3. 7643132 L 3 -IHJ'EEE!'ES

By
4

¢) WHITER

4. cedah

Six friends A, B, C, D, E, F are silting in a closed circle
facing the centre, Dircction (23-24) Questions.

Eisiothe Lefiof i
Cisbelveen A and B

F iz between A and E

1. 1K
1. 16 4 32
17. f&& w=t & Frae & wrfme 3 afamr famir
. 16 2 20
3. 3L 4 36

forew yAS (18-19) @8y-1 'T Somem ot

fhumret & iz avan-11 fa's eane o feat

SBET
ATEH-1 arEH-11

243

2x'-1

x+2x

x'-3x

Ll |

ffien 28 fao S o smfimwrg St a7

|, 2x-] 2. 3x'+)

3, w-3x 4 x+1x

faaat fifumir fEend 20+ 3 sidls et 7

I, 15

1. 1% 7

“COMMUNICATION F 5ot 5= e 7 Rae?

I, UNION ? ACTION

3. MUSIC 4, CAUTION

fie"s e Faet 3w BT S T U WETd a9 |

a) WOUND b} WRITER
el WORST I} WORKED
I, casbd 2. tdoeh
3. dehae 4. cedab
Wit = wive AT 92 AR wiEwE 7 e §
Fadte o A= 3t dvt Faea FEC ES |
] C o P X E K
| 2 3 4 5. .6 T

2645137 2. 1345672
3. Ted5K32 4. 4731625

¢} WHITER

faaew Uas (13-24) E AT A, B, C, D, ET F ¥ad
fee, Tan e d e esjuaed 82 o
E,DE¥RuHRTI
C,ATB& famaat
F AT RS fewaadi




Who i tothe Leftof B 7

1. A

3D

Wha is the Right of C 7

1A 2B
3R 4. F

A man 15 performing yoga with hiz head down and
legs up. His face is towards the west. In which
direction will kis lefl hand be?

I. Morth 2, South

3. FEast 4. West

Direetion (26-27) are based upon the sum of addition,
Each letter has unigque value and for nmqut value
there is unique letter.

TR%

f
GhvenE=4 !'! l-ﬁ B

LOKB S S Sk

Find the value of 0 ?

1.3

30

Find thevalueof %

I. 8

L |

A printer numbers the pages of a book starting with |
anduses 3193 digits in all. How many pages does the
boolk have?

1. 1074 2
3. 1076 4.

1075
77

Direction {29-30) Questions. A carpenier has the five
wooden articles A, B, C, [}, E having different weighi,

. AweighiztwiccasB
. Bweights four & halftime as muchas

3. Cweights haifas muchas D

4, Dweights halfas muchasE

5. Eweights less than A but more than C

Which of the [ollowingas lghtest mweight?

l. D ¢

3. B 4. A

Which of the following article is heaviest in weight?

1. E 2. b

3 A 4.1C

Find cdd one out

|. SEFTEMBER

1. MAY

2. JULY
4. APRIL

I

|
|
el
E

BEYRURTE 5 O7

1. A

3, D

CERAUAT= s

. A B
3. E . F

fea fewaal frm o fra mlts 3 wig B3 B O,
Grar &4 fagr 31 Bwer fager Wew &5 01 BRer e
70 fauat e s gl
| §= 2.
3, ugw 4. UsH
fegeryEs (26-27) yes e fea famm s wy T 3
wrfas & wiaawt o fea wiue avt e fee drahie
d w2 fetm at ahwa Bt frae fe'a diniva 3
fegTdE=4 L E T

*T H E
2. ORFHTRIT LOSS
L. 3

30

THE

S Tt FHFatd?

l. 8

1. 4 4 1

foa fijza fazw @ Ufant & | f98 3 3w 5
gt FEs v sEfere 1 @nfaawe s
0% I% |

I, 1074 2. 1075

31076 4. 1077

froew yes (29-30) fo'e gouw= 95 saat ¥t Iw
SAgHt A B, C, DT ETEIfgter e fiw-fisd)
|. ABTEERETE A=
2. BETEEC &S A ad g femrer
i CegabeFenE s dl
4, DETFTES TEEE WU T
5, EErga AT W uaC T e
75 fafiot fe T ma 3 owelt @wg faut 37
l, D P &
1. B 4. A
¥ Fafiout ff'® ra 3 gt 2ng faoe 37
1. E 2,
3. A 4.
Ty g -
|, AEg
1. WET




Determine the Relationship,

CLOSE: DNRW] :: OPEN:
1. RZWR L. RPIB
3. PRHR 4. PRI}

TEACHER, COLLEGE, STUDENT, which figure
represented it?

£ 1o MUAVAY,
'C:' '"‘H“J I@f" _-_;,’*”

I 2 3. 4.

T green '’ is called ‘red’, *red” 15 called *Blug’, *blue’
is called “white', "white” is called *vellow”, "vellow'
15 called *wiolet” then what is the colour of grass

l. Green 2. Red

3. Yellow 4. Violet

In a certain ¢ode languige, “Sue Re NIK™ means
“Bhe is brave”. "Pi sor Re MIK™ means “She iz
always smiling™ and *Sor Re Zhi™ means “is alwayvs

cheerful.”™ What 15 the code used for word
“smiling™?

1. Sor 2. NIK
3. Re B

In the following sequence of Instructions, | stands
for RUMN, Z stands for STOPF, 3 stands for GO, 4
gtands for SIT and 3 stands for WAILT, IF the
saquence were o conbinue, which instruction with
come next!

44545385314531245453453
. Wan 7 B
3. Run 4. Stop

HET Refug |9:
CLOSE : DNRW] :: OPEN:

REWR 2. RPIB
3. PRHR 4, PRI

TEACHER, COLLEGE, STUDENT § 5 fafumt
T faodt mes Wt ganraEt i

O O /RP° j::l D | /i»\
- | |
) ettt N
ﬁﬁﬂiﬁﬁ.ﬁﬂﬁ;ﬁ?ﬂﬁfhﬁﬁ!mﬁ'ﬁ
ree/fae fagr avd fad & uier, O § Fered
fagrarg 3t wrg o Jar &t JEar?
- 2. B8

3. UrET 4. Fa2h

fan & 8 9 “Suc Re NIK' & w8 “She is
brave” F1 “Pi sor Re NIK" " »@® “She s always
smiling” F “Sor Re Zhi™ €7 H@W “is always
eheerful” 1 “smiling” Fue & favs 89 ot =97
diatwr=aiti

|, Sor 2. NIK

1l Re 4. P

Jat fedt maat & ﬁ:l'hf"?i =8 ug, | HIEY
THET, 1 U HIABE fae, 3 8T HIEE ¥ E, 4 &
HIEE 52T W 5 Fﬂm@ﬂa’mmm
fet ==t oy aaEt a0 ot for 3 el mEaT
y=fas faaar wiyg wir=ar?
44545345314531245453453
|, Gt 2. FEar

=

1. AT 4. faar

In the following figure, rectangle, square, circle and  fo'st ¢t gam f&'s, wfem, Taa1, vae w2 8=
triangle represent the reglons of wheat, gram, maize Wi fio's w2t wgme Uoe o, 88, Wt wd 93w
and rice ¢ultivations, respectively, Give the answer, ﬂ'ﬁ'ﬁﬂ'ﬂ'ﬁ mj‘ﬂ'mﬁﬁﬂl :

/f” Ty
|'
| ('3 /8 | \
| 3 \ .»f_,..i'_ ") s
j b T T
— 4 . =
37. Which area is cultivated by rice and maize and faraar 437 ovE 3 Wal § Eonger d va T fan
nothing else? & adlf EeAg e

l. 9 B . 9
- 2 i




Observe the eolours and answer the following:-

Which coloured surface is opposite to yellow colour.
|, Green 2. Qrange
3. Red 4. White

How many cubes are there in the given figure?

1. 132

138

Direction Question (40). Given four figures three
fipures are similar in a certain manner, Choose the
different one. (Odd one o)

aw. [~ ~
D 1CICLIC
o %

."'i"\'-
gl 3
l..-"x

B 2. - 4
Direction Question (41). The following guestion
consists of Tour probléem fig. ABCD and four answer
figures Marked (1.) (2.) (3.) (4.) select the gif. from
smangst the answer figures which will continoe the
serial.

41. Problem Figure
|

wat0? | Hxoal | 12axo | orxoa

. o

Answer Figure

AOTXT?

It dtye=as IdstiET Ry e §aafed:--

o] o e | -

uts Jar &t mafo & sowE o8t Aefo 3 faoer §w
HTEETT !

|. @& 2. frat

15 4, Aew

Mo e ffami uz st

i, 132

138

140

142

faoem yEs (40) we forge e o o5, fa= feae
wruw fae ie ute ow, # feost e e sotwter, @
ﬁﬁ!aﬁﬁﬁﬁ}l
40. Y £y
> ¢ CLIC

7 .t N
2 3, 4,
faad® YES (41) 36 &3 yas &'y oo yas fo'ae
ABCD 2 w9 @39 fe'ga (1.)2.) 3.) ) e o1 yms
fazat et gt § ofdt eo= aet oo feasyt ‘& fe'w
Crdl
4. ymsfaas

%, S
B JGLAIE )

h_J
1.

AATDT | TXEOAD | 1 TAXD | QIEXTA

A ; D
E‘aﬁg“afd

AMK1TO




Fig. Aand B are related in some way. Accordingto 43 fygg Ao B RS e ReT R iR agr e

same relabionship among C and [, Choose the waT Fea e g D e e S Rt s
correct alternate, T

Problem Figu .
roblem Figure e fe e

b -+

51_-
A B

Answer Figure

|8 XS

=

L. r 5 3. 4. 1. : : 4.

What &5 the minimum number of different colours 43 WwE weE e muﬁ? an\'__Hﬁ'é'ﬂ rﬁ*ﬁﬂ\_ﬁ E"ET ﬂ’ﬂ" :"'F
required to paint the given fig. such that no. two AaeT %Emthﬁé:wmﬁ?
adjacent regions have the same colour? at JarsT I=?

== :
&_.ﬁ e
3 z. 4

X3 1, 2

CEEER LG

s
%3

44,  How many trangles and parallelograns are there in
the Fallowing figure?




Find the water image of figure “X°

Find the parror image ofihe following
MTSEscoleR

I. Haldossd2TH 2 HadoczEZTH
3. HaLossESNT 4 Halosad2ZTH

Which three figures among five figures A, B, C. D&
E will forms a complete square

A

I. ABC 1. BCD
i. CDE 4. BCE

A square transparent sheet with & paftem is given
Fig. out fromamongst the four altematives as to how
the patiern would appear when the transparent sheet
is folded at the dotted line.

A

Transpirent Sheet.

e

Response

B (BBF

l. q

Direction CQuestion (49). Paper has been Tolded as
ghown with the dotted lines in the given fig. PXY L &
paper has been cut. How would the paper look like
when unfolded.

y fFgdvz T ie39 X fan agter fowar?

; 3 q
it g sy g ot oo o aa faw o5t ferar?
NTS5EscoleR
1. BaJdoasdaTH 2 HAsloczE2TH
3. HaLossESHT 4 Haldoo:d2TH
47, Faawiwfeasta, B C DIEfeTfaosfas
fizy fsd e esaarsa@aan

\ s,
N =<4 L--'
A B ( ] E

1. ABC 2. BCD
3. CDE 4, BCE

48, o'z woarara e lews v & st andt O, feaw
few o3 97 feaeu® ABCD 9 92 72 (Fma)
e ater & | faw =9t fewret =29

Trunzparent Sheel.

| 2, 3 4
faaem yES (49) man © few gaa § fag (gedh)
fy=t @ &= &g ffewr wrer &1 a2 fe'ge PXYL
fee fetg 3 i fag g § afenr wer Hiilur ise 2
fam gt fetar 1§37 feld

3 X Y Z




I"'f* f‘j< Lﬂlﬁ& [r_\‘:&. ﬁf%

50, Beclect among four altermatives which complete the
given Miuatrix,

4,

PHYSICS =" 2F

A body of mass | kg joitially st rest 1z moved by a
horizontal foree of 0.5 N on o smooth fnctionless
table, The work done by force in 10 sec. is

1. 105 A
3, 201 4, 221

A boy hears an echio of his own voice from a distani
[nill afler 2 seconds, The specd of sound in air is 350
mi's. The digtancee of the hill from the boy 15

L 175m 2. 200m
3. 350m d, 250m

An clectric heater consists of 20m length of

manganin wire of 0.23m" crossectional area,

Wattage of heater when potential difference goross

the heater is 200 v 1=
1, 10'W 2. 100W
1 10°W 4. 10"W

A beam of white lighl when passes through a glass
prism, & specirum 'is ohaerved. Bui when same beam
of light passes through hollow grass prism then

|, Specirum is same
. Spectrun becomes brighler
Thers will be no spectrum

Coloursof spectrum reverse:d

50

1?.Tﬁf5wu?ﬁawy?maﬂm?hm

nirEdr?

siaa fefamrs
| fadarv vt et gore afos ver Que wet & fem
Bua 0.5N e uE soreT & W fea aral e i aielt
g 158 gnrar |0 Rfde e aaraaad)
1. 10.5] 2. 1251
3. 201 4, 221
fere ya sruEt nree 2t g & e gt & vt
F 7 ifdg wowe e O | Ta Tee ot @ arat 350
s o 1B et o mea = et -
. 175m 2. 200m
3. 350m 4, 250 m

few faaes dtes & Hearfas St e T efewr 0, fem
2nm Feret 2vat Anartas < Ie e uffigadtare
TriFaes 0.0’ Tifer rre dtertea s -
1. 10"W 2 100w
i 0w 4. 10°W
faz yerw ot faes v &' & fuaw &9 geedt O
Tt W few AlEeH fiser T v fedt feeuaw
=t faaw fea byet &9 ot e S aeeet T
|, Gt agterRlaey fser d)

. Al Tg T e

T Flaed ST e

Filen @ S OB Tare 7w




When a current camrying conductor is placed in a
dircction parallel o the magnetic Geld, force on
conductoris

|, Lo 2. 0N

3 loN 4, 000N

An object of size 4 om placed perpendioular to the
principal &xis of concave mirror, The distance of the
object from the mirror egquals radivs of curvature,
The size of the image will be ;

. I'm 2. &m
3. 3.5em 4, 4em

The most important safety method used for
protecting home applinnces firom short circuiting or
overloading 1=

2, Useof fuse

4, wseolelecine meter

|. Earthing
1. Useofsiabilizer

The equivalent resisiance between the points A and
B in the circuit as shown in the figure given below is

= ASA AT ]
242 . v
ﬁ —

rig
2. lessthan | ohm
4. Sohm

The masses of 10 kg and 20 kg respectively are
connected by massless spring. A force of 200N acts
on the 20 kg 'mass. Al the instant ghown, the 10 kg
mags has an acceleration of 12m/sec’. What is the

acceleration of 20 kg mass?
f ]
/ /
.

k. S—
20 kg

1. | ohm

1. morethan 1 ohm

>
1 kg

[, 12mfsec’ 2. dmfsec’
1. 20mizec’ 4. Smfsec’

A bullet of mass 0.1 kg is fired with o specd of 100
m'sec., the mass of gun is 50 kg The velocity of
recoil is

. 0.2 m'sec 2. 0.1 msec
3. 0.5 mfsec 4. 005 misec

Which of the following frequency of sound can be
generated by a vibrating simple pendulurn as well as
try the vibraling vocal cords of arhinocerous?

. 8Hz i 253 Hz
1. 10Hz . 15000 Hz

wt'

&0,

we feq 39 (poed) fam 9 ade gaeeT 49,
SR Gudl daw @ mratas ofievr v SW Que
wfamr e -
(= 2. 100N

3 10N 4. 1000N

Hdd TET 4 AH 1 YAg WEIE SIS T HY W T
wifgde F wet I W fem 2 gaus I gdt Squm ©
wEggTa e fratd gt JEtfie o wirag &t -
1. 1+t 2. 2t

3. 3.5HH 4, A1

oz rafat wid Greadfdar ¥ vy Quaas
HarEE ot e 3 Wl Feues Idar fauer ot
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L. 1 & 2. 18w Twe

i 18T e 4, B8aw

10 kg w3 20 kg Ut & fe O afo mulder 578
geargs 2 20 kg OW 3 200 N 5% sarfew fame
W 10 kg U 9 1 2mysec” yRar Sz dtar fammi 2o
kg R eTyEaTuaTae|

ff }W i* " >

Ekg kg

2. 4misec’
4. Smisec’

I, 12m/sec’
3. 20m/sec’
0.1 kg & ST 100 misec & A= 8 TETE AET
Fag dga v I S0kg 79 3 724 (Recoil) &7 2
U=t ET |

1. 0.2 misec 2. 0] miseg

3. 0.5 misec 4, 0.05 mizec

Roas Ugsy &t eifeedt vt &8 faw Aeagr =
Tt e deat

1. 8Hz

3, I0Hz




Which of the following is not an example of biomass
ERETEY source?

[. Wood 2. Garbage
3. Atomic cnergy 4, Coal

Ancedle placed 45 cm from a lens forms an image
on @ sereen placed 90 cm on the other side of lens,
fescal length and typc of lens s

|, #l0cm, Convex lens 2. +30em, Convex lens
3, #30cm Concavelens 4. #llem, Concave lens
CHEMISTRY

I 1.5 moles of oxvpen gas combines with solid
Aluminium to forme ALD,, What 15 the mass of
Alurniniuem wsed in the reaction’

1. 27gm 2, 54gm
3. 40 5egm 4. 8lgm

A student test the pH of distilled water and found that
the colour of pH paper changed to green. He
checked the pH again afier dissolving a pinch of
common salt in waler, The colour of pH paper this
time will be:

|. Green 2 Yellow

3, Red 4. Blue

On electrolysis of brine solution the prodocts
formed are:

I, Maand(Cl, 2. H,, O,and Cl,

1. H,, Cl,, and NaQH 4. MNaOH, Cl,and 0,

What iz the valancy of an element having atomic
number |18

f. i Z. B
3. Zero 4 ¢
Mumber of molecules preseni
waler respectively

1. £.023x 10" and 1 260 and |8

3. IRand 6.023x 10" 4. lando.023x10"

By adding acetic acid to solid X" a coloriess and
odourless gas “Y" is evolved, The gas *Y" tums
lime water milky. What are X and Y.

I, X is Sodum carbonale and Y iz CO,,

2. X is Sodium ydro-oxide and Y is CO,

3 XisSodium acetate and Y i3 00,

4. X 15 Sodium bicarbonate and ¥ is 80,
High meliing pomtof a compoand indecales

4 1EL od

l. Sirong Intermolecular forces.
2. Kinetic Encrgy of molecules is more.
3. Speed of molecules ismore.

4. Compound can diffuse cusily

I% fafpy (€9 faoa- oetom Ger Reg st 01

|. BaF 2, gFTdede

3,y Qo 4, &@

fear @wg fand Baa T 45em & gl I e Frer
J e yIfew Snw & g U 0em T e JidET
e aE gl yara J)

1, +l0em,@38853 2. +30cm, Gamdna
3 Hikem RIS Eaw 4. +10cm, WREE e

arrfee fefamrs
7 1.5 W nrarts @in, sgpitatla 5 59 @
Furfea fefamrs A)0, 52 &8s o 3t fow fafaen
FarE WiEHIETA 2 fawT avg Zafan famwm?
1. 279 2. S4apM
3, 40.58H 4, §1amy
fear fefonradl & aetfe’ s u=t & pH &t uaw St
wiT G & Sfnr fa pH e & & ger & famwr 31
Sw F et fefe roes v e & @l pH g ow
=N 8RR pH Yuger dar &t T arear?
|, T 2, Ut
i e 4, e
fatv FETEE T AET-0% ¢ faeset suuEs
g faaE faure =T 757
|, Nam= Cl, 2. H, O,nE 0,
3. H, Cl, ™= NaOH 4. NaOH, Gl W30,
uaHTE Rt |8 =8 3 3 at Adva g faat o=’
1.2 2. R
1 #g 4 6
U= R apH T 1BV VRl e Ul E fdd niw
et
1. 6.023x10" w3 | 2 H.023x 1053 18
3. 18w 6.023 x 107 4. 1T 602300
fe'w ygwsEY feo 79 aw vovaw X &9 smfem
wiAE U= T Janite v it 3 Y feasst d
Y W g8 € u# ¥V Surge 3 g4 & Ul
i I a3 XM Y iR a s
1, X AEfey &a8de wid ¥ TousgeanElg
AR
2, X Bhwy TEETEATEIE M Y FEEsFET
WrEREF SR
1. X Batens w12 Wi Y dOESEETEAEE
R
4, X Adm TElaTEAC T Y REEIETEL-
WEATEE AR |
forit Ew o o fuwss v dt ware i
fea T GuE |
. ER e g Faartay e
_ nfEnt Et @ arat
ER T T WA BTE YRGS HEAEY 35 |
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A melal on heating in presence of air gives
compound which is soluble in water and have high
meltng point. The medal is

2. Carbon

3. Silicon 4. Iron

. Caleium

An element which is essential constituent of all
arganmic compounds belongs 6 which proup in
Pernodic Table

1. Group2
3, Group 16

2. Group 14

4. Group £7

How many covalent bonds are present in Pentane?
1. 8 2. 10

F. 16 4, 14

Which ene of the following is not an isoelecironic
with Meon atom

2. MNu"
3. Mg"

s
The formula of sulphate of efement X is X, (50,),.
The formulaofminds of element X 15,

| B 2. XN,

3. XN 4. XN,
Three lest tubes containing :

Test Tube X Smlof HCI

Test TubeY; Smlof HNG,

Test Tube Z; 1 5ml of HCTH-5mid of HMNO),

A small plece of metal was added in all the three pest
tubes, Itdissolves anly in Test Tube Z. The metal is;

I, Al 2, Au
3. Cu 4, Ag

BIOLOGY

Maich the cofumn D with the column T
Column | Colymn [l

1. Renal artery . It stores the urine antill
it 13 rele: mad through

the Urethm

i Kidney

. |t passes unne from
kidney to urinary
nindder.

i Ureber = It filters the bload and
fiorms urime.

. It bring blood to the
kidney for filiering
wrasle,

iv. Urinary bladder

feq oz § o= o9 39 v o9 s & vet e
wEs ga T B fuuse wim ove Glam g
ST EME O7

| aEHh 2. g9as

1, fmetars 4, GBI

wiradiae Gfanet e g I S5gdt S wrae st At
& fanag s rE AET I yeT a7

l. T2 2, gy il4

1. Aigu L6 4. FFUI7

rsen & vig 99 53 mioiest fus o

b 8 2. 10

3. 16 4. 14

7% fefn 99 faw fee fowrs yie & some
fedae s &at ure ate

}. B . o

3. uMg”

=3 X ¥ O € rEEe avs afaw o §I9 X,(50,),
J1 fem I3 X o @9 ¥ HERwE &8 & §ee
gwary

. X,N

3. XN

fas uay msint

UaHAS & €9 5 (W BT HCl

ugwEs  feg 5 e Bt HND,

w15 W Bt HCh-s T 3 HND,

77 ugHnEl fow o v g zasr wiesr fammi
org & pa s fHag unes! ar v Us ffgws Jer
Jiorz v e feost Tt

1. Al ' 2. Au

3. Cu 4, Ag

e fefamrs

e | e fiEs aer  aEad|
T | FEll
i FEEroEt o feoyae U9 T Ay e
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1i-b
fii-C
ini-d

i-d li-¢

I, =4 i=h

iv-3
-

1. b f=a v-c

4, i-c fi=h iv-d

Which onez of the following is the function of the
eneymes of Pancreatic Juice?

I. trypsin digests protcin and lipase digests
carbohydrates

. Irypsin digests emulsified fats and lipase digeses
profeins
trypain and kipasc digest fats
. trypsin digesis proteins and lipase digests
emlzified fats
Which of the fallowing 5 not a comect pir -
Adrenaline Pituitary gland
Testosterone Testes

Lvary

]
2.
3. Estrogen
d

Thyroxine 5

Pine and Deodar are the example of

Thyroid gland
[, Gymnosperms 2. Preridophyta
3. Thallophyia 4. Bryophvia

Khadins, Bundhis and Ahars are ancient stroctures
that are example of
|. Ciramn storuge 2. Wood storage

3. Water harvesting 4. Soilconservation

Read the following statements and select the correct
OPom

Statemeant T : Snails and Mussels are Molluscans

Statement 11 ; Sea Urchins nnd Scorpions are
echimodermates

. only stalemsent s true

. anly statement [11s true

. Both statements | & [T are true
. Both stalements | & [l are false

; in Eukaryotes is separated from
The n:},-:upiusrn by dowble layered membranc and it
direcis the life process af the cell,

2, Mucleus
3. Lyvsosome 4, Ribosome

A feature that 15 common in veast,
pAfAMmacium is

|. Colgi Apparatus

amaoeha,

|, Theyall are multi cellular
2, They all reproduce by budding
3. They all reproduce by binary fission

4, They all are unicellular

B,

[ 1-d i-c iii-b =i

2 oi-a ii-b - =il
1 b li-a
4. 1-c ii-b li-a m-d
T fufunt (9 faae e g Fr 2 i &
AHA7
|, frurs Oftatr &
T UTeE BET
2. frums, wadt v Bvetira G2tet & yras e
3. foumswid el aadt T uas ST
4, foums T21%T »i3 vetie 9ol uras B
¥ fefpt S faoz st S3rslt T
I wHEdETEE fuzetedt dmt
2 yaTE #st
I, wAZIAS WEaE
4. gfearafas greftarety diet
UEE M (Deodar) eGea fam et Goraastas)
|, FevEmuas 2, StEedte
3, BEgEeT 4, wieSeete
yfes, ifor w3 o oo udts sonst o
SeTIast I
|, miEHFadn }, EHEWEEs
1, A dEas 4. WA TtATS
frsfsfu guet §ug w3 At feEsugE)
FEE | ErwE e HEwET IE |
a1 : At wigws w3 g feardt S gaier 78
ST aRs| At 4
} AEEFES |
HYA | WS HEE || &2 Rdt &)
EI'-FJ'!F.'I?H;T wHE [ 2 AIBI TR

i-d V=i

TS W BEIUT SRS

L3 iy

WE Ueee T we e 7 W O feo A § Al
fafonret met fmgem fderd

1, aret afenret 2, g9

3, TETARW 4, SrETR

wTa, s, Uaniteinm fe sy @ faaar di

|, ferrrs sans o

2, ferAraafaa ot yeEas aoe 08

1, feoars & s feftadt ymes e 08

4, feomd fea At as
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Which blood constinient makez up maore of the
volume of blood

I. Redbloodeells
1. Bleod protein

2. Plasma

4. White blood cells
HomeH O OUS OTRBRS AT v onearinspogas sois sisnnsn snsspesins s
1. Dasgimilar inorigin, similar in function

2. Dissimilar in origin and dissimilar in function,
3. Similar inoriginand similar in function,

4. Similar inorigin and dissimilar in function.

What i& the correct dirsction of Row of electical
imipuilzes innerve cells?

You ohserved a slide of anima) tissue and observed
(i) long cylindrical and unbranched cells (ii) They
had dirk and light binds. The Gissue could be of

. Unstriaied muscle fibres 2. Mourons
4, Cardiac imuscle fibres

Which organ 1% infected when a person suffers from
Faundice?

1. Struated muscle fiboes

|. Bones
3. Lungs
Thi animals having jointed [&gs belongs to phy lum
1} -Annelida
1. Mollusca

2. Laver

4. Mervous system

Z. Arthropoda

4, Hemoioda

MATHEMATICS

[ pepte = 0 then the value of

2pligrny + 2q°(p+ey + 2'{ptq)
par

83,

87

¥ fauer W dE e regs Srigerd?

| BETETE 2, UETEHT

1. syidts A, FRdETE
RHATE! ... .-

|. HETOn (@6, @09 ANS
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A circle g inscribed in 3 square of side 2.5cm.
Another circle 15 circumscnbing this square, The
ratsroFarens of oulercirele and inmer cirche iz

. B¥2 = 21 3 21 4, vkl

if :-:=|—I {hen find the value of dx ' +2x -Bx-3

i1

1.0 p
1. =2 4. 2

How many revolutions will & circular wheel of
raciins rumits will make 10 cover a distance af 100
times s digmeter?

I )

1 - K il
e Fs

100 3 — ] -—

[0 n
Iftang + cotd = | then the value of sing + cosd will be
equalto[whene § s an poute angle )

. 2. Wi K

I1 piky 1erm of an AF is g and gih term 15 p then mih
term ol this AP will be

|, prgtm 2. pTg-m
3. p-q-m 4. p-gtm

Two dice are thrown. Find the probability that sum
of nombers of both up sides of both dice is a perfect
Square.

&
34
From the top of & tower of b m high, the angles of
depression of twa objects, which arc in ling with the
foot of the tower are o and [ (f=a). Find the
difference between two objectives.

1. hitana-tanf) 2
3, Beota-cotfi)
[f the distance berween the poiniz {4, g} and {1, 0}i5 5
urvits then the valueof gis -

1.4 2. 4

3 4.0

- The area of an eguilateral trangle is 49¥3cm’.
Taking cach vertex as centre, circles are descnibed
with radius equal 1o half the length of the side of the
triangbe. Find the arca of the triangle. Find the area of

the part of the triangle which s not included m these
circles.

(1 ; “’f.." ',;fﬂ %ﬁ:}l‘

. Bdem' 2. 77 Temi'
L] "-' -:'m ]

70.7em'
_:| g lw:.“l i

o
v
5B

A
4 (VX

3 4, 0

h{cot o -4an )

4. hicota+col )

i)

2.5 AW 39 @8 SO0 et I & BT aievT
fe'm o few @ wiea ffowr famwr J1@aar @ a9
fryst 5 9 dwer ify modt Sae fufear fapr
J1 Wt Wi wiegat dadt @ iTTest = vMgus
USTET |

. 12 2. w2 , M 1 4
Had x_-,l
LEE

w3l
| FF x4 fx- I TR UETET

2.2

o 9
fea wate § frmer nmafemen « fearetor 7, v
e &t |00 @@ gdt 3w aas 8¢ fas do9
L 2 2 e 3 e
Hdd tand + cotd= | TE I zind + cosp ETH B o= |
(FasFalfafedey)
F. O Z. 42 3. V3 4.1
o R AP pTT UT g g U p T FTEW AP
EmT ST HE =4
I. prg+m 2
3 p-g-m
v UH fea s Ae e | Aerwnr U= ¢ fa v urimd
= Gug e At o aE T'E yes wear 79
v 3.k
h oft- &4 fom zveg & Gudt (W2 5 @ eanit & fa
ewavise o feaow e lees@TonE
f o) 1 fETst Tyt & feamast gdt yarad)
|, hitan - tan ) 2. hicota-tan {1}
3. hicola-cotf) 4, hicota+col )
wae & g (4, q) o3 (1, 0) & fewarast gat 5
feaemit Sw 3T q T H S Jeam
| 4 2. 4

5 4 0

51

[rrq-m
4, p=gt+m

on. fé's megHt fagw o uages 493 smamy IR @

frrygt & @'eq W @ Tae e a0, fagt o vy
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101

103,

| (6.

A

108,

If ¥{0.04 x (.4c) = 0.4 x 0.04vy . Then the value 101
of = is
¥
L. 0.0016 Z 016
5, D016 4, 1.6

- Cne litre of water weighs | kg. How many cubic

millimetres of waler weigh 0.1 gm? e o L) rIUE.
L. 100 210 ]h,ui;__', ot
1, 1 4. 0.1 . _r_‘ju-ﬂh.h
— . |
If-r=33 lg_:|ﬁ , then the value ofxis: 71§ -
L Y r ’ 103.
—Tih
| Y 2 4 I
=3 - e =
z | g 13 5 4. 45

|f x men can do a plece of work in 8 days and (r+d) 104

men can do the same work in 6 days ﬂmn::srqmlm
1. 10 2.6 ' h-' \
"3 12 4. 24 5 ,M
(]

. Ifx*+y'+e’ = where x = rsin Acos B, y=r sin A sin %

B then £ has one of the fnl’mlugulu:&.‘ ey P P@&ﬂ'i
1. rsinB R
3 rtanAcosB 4. ranAtan B ,.-'.‘:-"T 1 :"'h_",'f
Find the solutions for *x’ in® AT
in solutions for “x" in eqn. . ':{.-l"‘ 106
'I:—LL+L--li5: r Pl
Gtbdx. a b . H
iy + A
. -&b z-a-hﬂg‘ﬁ =
3. a.-b 4 ab il L

In the given figure, ABCDisa cyche g ul].ﬁ;gllil.':ﬂ.l. If 107
ZBAC = 800, SBCA=20" then find the value of
S ADC

1 BIF 4, a0

A copper wire when bent in the form of a square,
encloseg an area of 484 cm': If the same ware is bent
inthe forro of circle, the ares enclosed by it is:

108

|. 210em’ 2 §l6em’ 1

1. 51Zem’ 4 S4em’ I

. stad {0.04 x 0.4x) = 0.4 x .04y ﬁr%e-
Ve E T
1. 0.0016 2. 0.16
1. 0.016 4 16

fea feed w2t & 9@ | f@@ary 41 @8 w=
fiahiteg uateraa 0.1 ard?

[. 100 2. 10
3 1 4. 0]
Hod 1=
1 2 4 i
. 1-5- F. ]T 3 3-3 4 4?

nad x vt fEg &u § & fost e gae = vl

Ll et @R aW S 6 font feg aoe 0= =F
HEEG J=Al
. Il 2.0

X 12 4, 74

5, PEe t=+1l,"-+:r."—' ' T E % =rsinA cos B,y=rsin Asin
3

B = =t s fefwr i@ 2 & faost dtva Tty
1. rsimB 2. reosM
3, rtanAcosD 4, rianAdan B
mitarge fefe '« 2t et Tear:

| | | 1

i
1, -a,b 2. =a,-b
3. a-b 4. ahb

fe's fo'ge &9 ABCD e vadt 9gegw 3, 7aw

LBAC = 60°, FBCA=10° 0= Bt LFADC E HE
gl A
|
" d
=
1, 15 2. 50°
3. BQ@ 4. 40

fe'a =t & I9 § A =90 © wrad fe e Afanr
e Z7 fog 484 90 A yaoas et Ji Ay
7 39 § due € vaw &g &few e 3t few
firet HTew iran
| 210 <A
3, 512 FFIRN

4, 16T A
4. 54 FIIAAA
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109, The mean temperamire of Monday to Wednesday

was 37°C and of Tuesday to Thursday was 34°C, If
the temperature on Thursday was 4/5th that of
Monday. Then the temperanire of Thursday was

I, A55°C . i
3. 365°C 4. IGAC

., Im & box containing 100 bulbs, 10 arc defective.
What is the probability that out of a sample of 5
bulbs none is defective. Z

- I HJ;J

(3 arig
@

HISTORY

. In IMFand Warld Bank, the decisions are taken by-

1. 1W°

@

1. developing nations

2. a joint council of developed and developing
counlres

3. Western industnial powers
4. leastdeveloped nations

. What led to town planning of the city of Bombay in
18807

|. Thesocial lension

. Poverty

3, Fearof plague epidemics
4. Riots

13, Which of the following novel deals with caslc

OO rEssion?
2. Indulekha
4. Padmarag

Who described Mazzini as “the most dangerous
encmy ofour social order?

I. Sultana's Diream

3. Saraswati Vijayam

2. Dmke Metterimich
4. Lord Byran

Wiy was the Vietnam war called the first lelevision
wiar?

1. Vietor Emmnanuel T1
3. Johann Gottfried

1. Brought home, stories from soldiers
. Led Wy increased sale ol ielevision seis
3. Banlescenes wercshown on datly nows
., Television was invented

109

AHe'd F §ua e 34 ¥ WHES IUAE ITC WE
farEes T diged Ta o IUNE 14°C WY, AEe
Flgerd T TUNS FHEW © TN T 45 = H
=+ daere v W fagt it
. 35.5%C 2. 34°C
1, 36.5°C 4, 36°C
fe'm =9 faw fee 100 989 05, 10 vwF 351 5
gEg o feq Aus &9 59 589 ¥aW &7 3= =t
HAav=r fant =4t

(@)

i

L 10%
9, L& £
1 (= A
(W )
fefgam
mET W nhe Wl fane Wa @ 38 faw oo B2
fegrEls 2w
2. feemawa feamdte ent St aFs
i, Uet Seafare radnt
4 wefeoanaew

112, 1880 feg dudl Bfow & 9@ Gwar =6t faoer

Fas gt
| mrfaa e
2. FmarEr
1, UBd watht e e
4. &l
A=t gt m7E sfdse sren fagar
| FEI& ST @M 1. fegdyr
1, AaREEt fEtny 4. uEWTEa
faat & wfast § 'wat mrfer =Bt e A 3
HIaA'd ORHE faaT At -
few ed MBS 11 2. feGaveelay
1. s drefer 4. BTE HEdS
Fmigaw & g0 § ufoer dEifeas o fag fao
ey
. werfes Afsat St aoaini garger
setfeast 2t feadtearer
e ywet fe st @ few i fewder
FElfeds etag




116, Who said, “printing s the ultimate gift of God and
the gresbesl ane™

1. CharlesDhckens

2. LY Schely

3. Mahatma Gandh: 4, Marin Luther

. Which of the following combination correctly
indicaics the three fows of infermational economic
exchange -

117

|, Capital, goods, raw material

B

3. Goods, labour, capital
4,

. Cods, metal, labour

Labour, capital, food grains
18, Theslogan ' Jai Hind" was given by -
|. LalBahadur Shastri

2. Subhash Chandra Bose

3. Jawsahar [Lal Nehru

4. HasBehan Bose

119, What was the relanonship of Gura Amardas Ji with
Cruru Ramclas et

i. Father 2

4 ]"'.ul:h{:r-in-L:m

Mame the treaty signed on 26th December, 1846
after First Anglo Sikh War?

I. Treaty of Parg

Son
1, Brother
| 260,

-

i

Treaty of Lahare
Treaty of Bhayrowal 4. Tripartite Treaty
Who established Dal Khalsa? i

. Nawab Kapoaor Sliug i

Banda Bahadur

Ranjit Singh

da L B ==

Gruro Gobind Singh Ji

GEOGRAPHY

122, ‘Retief™, *Cyclonic’ and “Convectional® are types of
which ofihe following?
Soil 2, Wioier
3. Rainfall 4. Forests
123, Towhich ofthe following, the stody ol *Sesmology”
is related?
I. Ammosphers 2. Floods
3. Tideg 4. Earthquakes
124, What is the area of Chandipgarh?

. 114sgkilometrs

2, 1004 sy kilomerre
4. 50362 8q kilometre

3. 1kl 40 =g kilametre

118

FLe

121.
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]
Tl

12
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. Wihich latimnde passes approximately ihrough the
middle ol India?
1. Equator 2. Tropic of Cancer
A 'i'r|_1-'|:|i:_' il ['_'.apri-;'n,'-m 4, Prme Mendian

;. With which agent the features like "Stalactite” and
‘Stalagmile’ are related?

l. Adr . Sen
3. Undergroond walér 4, Glacigr (Biver of loe)
. Inwhich state of India the "Kandla Port® is situated?
|, Punjab

3. Andhra Pradesh

v Which of the fellowing siates has the lcast
‘populution density'?

i. Bihar

2, Wezt Bengal

4, Chujarat

2. Uttar Pradesh
3. Himachal Pradesh 4. Arunachal Pradesh

. Whch state of India has the muximum area under
lorests?

[. Haryana 2. Tripura
3. Rajasthan 4, Karnataka

. From which langunge the word " Monsoon ™ has been
derived?
[, Hindi 2. Arabic

3. German 4. English

131, For what runeral, the mining regon of *Kolur® and

"‘Ramgiri”in Indian are famous for?
Ciold 2. Silver

3. Copper 4, Bauxiie

. Which state of Indiz is connected to China (Tibel

Remon ) through Mathula pass?

|. Meghalaya 2. Assam

1. Sikkim 4. Ardnachal Pradesh

CIVICS

3. Who was the Chairman of Drafting Commitice of

Indinn Constimution -
I. BonLal Mehru i
1. B.R Ambedkar

. Which of the following is a hig challenge 1o
demperacy?

Jowahar Lal Wehu
4, Rajender Prasad

|. Leaders 2. Political Parties

3. Elections 4. Witerate Citizens
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135

Which of the following is not the quality of ideal
citizens :-

1. Goodhealth 2

3. Tolerance

£35

Patriobism
i ]IIit1:r~.1c1I'

136, Sentsare reserved forwomen in -

l. Parliarment L
2. Panchayati Ra) Institutions
3. Stale Legizlature
4, RajyaSabha
137. Which typeof government is a federal governments
l. Centre and State Government
2. Govioftwo States 137,
1. Centre and two State Governmmend
Centre and three State Government

|38

How many state governments arc functioning in

Indin -
L. F 2. 24 11K,
3,13 4, 29

139, Anordmary bill s represented m ;-
|. RajyaSabha 139,
Z. Lok Sabha
3. Any house of Parliameni
4. RajyaVidhan Sabha

[40). Who is the constitulional head of India?
1. King 2. Duess 140
3. Prime Minister 4. President,

141. Which ofthe following is not the National Flag :-

|. Shiromany Akali Dal
2. Bhartiya Janta Party
3. Indian Ha:iuna!{_"n:pngrci..t;

1411

4. Bahujan Samaj Party
India is afoderal state because -
1. Dual judiciary

142.

[eedt

- Writlen constitution

Dual citizenship

O Y]

. Shareof power between centre and state

ECONOMICS

143, GDPeanbowniten as 143

1. Creneral Domestic Prodact

2. Gross Domestic Product
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1. Gross Development Product 3. &% feaw Gzuw
4. General Development Product 4. 7%5as feaw G

Foreign Trade ... 4. Foodt =uma

|. Increases choice of goods |, ¥Hant* ¥ v & Fuler a1

2. Decroases price of goods 2. EHan S JlWT & TR

3. Increases competition in the market 3. 5y f@e vaed § fuger 3
. Decreases carnings. 4 et & werEer

COPRA full form is . COPRA & fenas & fsi
|. Co-ordination Profection Act |, IEHE Faus u“'ﬁﬁ
1. (o-education Protection Act 2. AIT-TR T Aawa I8
Y. Co-operative Protoction Act 3. Afgaaa AauE ag s
4, Consumer Protection Act 4, EFwrar fewe i
Which of these noles are issued by finance famar &z gvax mawre € ffs wawfenr ewmar
department of Govt. of India. Tt ST Sy
I. T500 s F100 |. ¥ 500 2. T 100
3. 2000 4. 1
1. Tt g E Ty O fehmit 69 o O
|, BT °3T TU fammi
. TR ygEE W fap
1. =g o Gaues 2 famm
. ‘Wheat Production Increased 4, w0 o Gaures W famr

Milk Production Increased ; )
. fene fewmitase § feme ower ygrfes dtar
. Globalisation was stimulated by - fapr Ht 7

3, ¥ 2000 4 T

. What iz the impact of Green Revelution.
|, Forestarea increased
. Adr Pellution decreasaed

I. Money 2. Transporation .} ‘&

J, Population 4. Computers . AETTm 4, afultes

1. Sells goods and services

1. Buy goods and services. 2. THGW WS AEret ydeeT 31
. Produces goods and services . AW W At O Gaues waer
. Dehivers goods and services. d, wwmﬁﬁmﬂ?ﬁl

. 'What is the time-period of 12th five year plan? | 50, SgaT U ATET Geat O et et g7

1. 2002-07 2, 2007-12 1. 2002-07 2. 2007-12
3. 2012-17 4, 2007-22 5. 2012-17 4, 2017-22




ENGLISH

(). {151-153.) Bead the following passage carefully and
answer the questions that follow;

Some people think you néeed a kichen o cook
dinner. Bul you can make ¢asy, delicious meals
outside over a cimpfire.

Oine easy camphre mesl 13 2 baked potato. You wrap
the potato in tin foil and put it under the fames in the
hot ashes. After an hour, the heal from the fire wall
cook the potato, Open up the tin foil packoge and
vou havea haked poiate!

It iz also easy to roast food over & camphfire. You can
put hot doas or sausages on sticks and hold them in
the fire. The flames will cook the meat. For dessert,
youl can roast marshmallows on sticks. Hold them
near the fire until they turn golden and begin to melt
But do nol leave anyihing in the fire wo long, or it
will turm completely black and taste like ashes

There are many nice things aboul complire meals. To
make these meals, vou do not even nead to know
anvthing about cooking. Some peopic glsg say that
food fastes better when cooked and eaten outside.
But the best part of these campfire meals is there are
ni dishes o wash afterwards.

. As used in paragraph 2, which 1= an example of o

package’
|. French fries are served onatnwy in the cafcteria
2, Anew iy comes wrapped up inaplastic box

3. Cookies are easy to remove when there is tin loil
o the dookie sheet

4. You can use a knife 1o cut open an orange mstead
of pecling it

The author warns that if you leave anything in the
fire too long, &t

I, canget burmed 2, can be dangerous
1. will medt 4. will fall offthe stick

Which sentence [rom the passage best describes
why campfire meals are casy o make?

[, "Bul you can make easy, delicious meals ouiside
over a campfine.”

wn
-

I 55

I "You wrap the potate in bin fod and put if under
the Aamies inthe hat ashes,”

3. “Itis aksoeasy o roast food overacamplire.™

g

. “To make these meals, you do not even need to
know anything about cooking.”™

After reading the passage, we cancone lude that

I wou danot need moch to cook o campiire mcal

o]

2, cooking over a camipfire iz more fun than in a
kitchen

-

. roasting food on a stick or wrapping it in tin foil is
the only way focook a |.=m11}'.uﬁ|-¢ meal

4. af vou do not cook in a kitchen, you do nol kave
eny dishes 1o wash

According to the author, the best pan of these
camplire menls is that they
. BTG Sasy 2, are deliciouns

3. tasie better outside 4. use nodishes

), (156-160.) Read the comprehension passapge
carefully and answer the Following questions :-

| 56.

What needs 10 be setright 15 our approach 1o werk. It
i5 & common sight 1 our country of employvees
reporting for duty ontume and at the same time doing
hittle work, 17 an asscssment is made of time they
spent in gossiping, drinking tea, eating “pan™ and
smoking cigarcties, itwill be shocking to know that
ihe e devolcd o acmial work 15 e g];gih!u: The
problem i the standind which the leadership in
wdminisiniiiom se1= for the <12t The minisiers mix
palitics amd adminisiration, What do top burcaucrats
do? What do the below down officilzs do'! The
administration set up remains week mamly because
the emplovees do not have the right example to
follow and they are more concermed abowt bemg in
the good books ol ihe bosses that doing work

The comployees in our country
I. areguite punctual but not duty conseious

2. Are nol punciual but somchow manage to
compleie their work

3. Arcsomewhatlazy butf good natured

4. Arenothghly qualified




According io thewriter, the adminisiration in India
. lsby and large effective
. Is strict and firm

3 Iseffected by red tape

4. Is more or less ineffective
+ Theword asscsamcnl moans ;

l. Enquiry 2. Report

1. Evaluation &, Summary
. The leadership in an administration

|. Setsa fine example to the employees

2. Isofarcasonably high standard

1. ls composed of idealists

4, Isofavery poorstandard

. The central idea of the passage could be best
expressed By the following:

|, Thecmployer's outlook towards work is justified

2, Theemployee must change their outlook towards
work

. T'nc employees would never change their work
culture

1. The emplover employes relation m for from
healthy

O (161=164.) The 15t and the last parts of the sentence
arc numbered | and 6. The rest of the sentence is split
into four parts and named F, (), R & 8. These four
paris aré not given in their proper order. Read the
sentence and find out which of the four combinations ks
correct,

fel. I, A dichionary
s arrenged words

: nbout which information

: conlaining alphabetically

:isa boak

15 given

1. RPQS 2. QRPS
3. SRPQ 4. SFRQ

. ¢ The pigeons were uscd
25 MEEsLnpars
which were tied
. cintheolden days

¢ 1o carTY messapges
: 1o their fiset
PORS

. PRSQ)

- Bocrates
never to make
- ragrest Gireek Philosopher
. :and had resolved
» tried hard to central himself
» & show o his temper
SRPQ 2. QSRP
3, QSPR 4. PQRS

: The important thing
- winning
. - 1§ not
bl
laking par
: in the Olympic games
. PORS . QOPRS
. BRFPQ) 4. QSFR

). (165-168.) The following questions has the second
sentence is missing, Choose (he appropriate senfénce
from the given options to complete it

165 A, A pentleman who lived alone always had fwo
plates placed on the table at dinner time.




B

¢

e used to give the cal a piece of meat from his
own plate

. Dine plte was for imself and other was for his

cat

She droped a movse into her own plate and
anolher into her master plate.

In this way the cat showed her grabtude to her
masier,

. The cat war nice to the master,

. But today few think of Ray ws & maker of

Satyajit Ray made many films for children

Ray, was a pionger in this beld,
Later, film makers have followed his lead

Today, other nations are making children’s flms
ina brg way

This was al a time when no director considered
children as potential audience

children's films.

Villages are usually thought as ibe places of

peace and soliude,

Lifeina village is not s fast as inthe city,

There are fewer distrac tions for the villagers,

. A common bond of brotherheod exists in the

villagers of ong ancther

. Just like life in a city, o village has its own

anractions and revulsions

villagers arc a home away
fromm the busy lile m citics

A computer i3 an electric device

". The computer helps us create programmes,

communieate and belp us oearm.

, Information is stored and managed by
computers

We have really asrived indo an ern of global
world,

The internet is complicated web af satellites

. That helps in boosting our eficiency,

), (169-170) Choose the word which best Gills the
blank from the four oplions given -

169, The President of India culicd upon the people to _
thcir relipious differences and
strengthen secularism in i country

[. abalish 2. exhaor

3. sink 4. condemn
[ T0. My father of severe pain in his chest,
1. guestioned 2. complained

Y. afrad Expressed

. (171178 In the questions below, out of Tour
alternatives, choose the one which can be substituted
for the given words:
T1. Government by a kingor queen

. Theocracy 2. Monarchy
3. Democracy 4, Republic
172, Child of unusual or remarkable talent.
. Talented 2. Distinguished
3. Reputed 4. Prodigy
|73, Scorciby of raimn or water
Diranghi

4. Barren

I. Drought .

Y. Tide

0. (17d-181.) Select this meaning of the given phrases’
idioms,

174, Bhe was remarkably
and dancing,

1% sipging
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I. Conducive 2. Eeluetan Whom were you bealen?

3. Amogant 4. Accomplished 3. Why were you bealen?
4, Whom do vou beaten?

A technelogy starved customer would only be

10 be presented with a new project :
— P P T has news alarmed g

P " R .
. Thriving 2. Declarative |. I havebeen alormed ot this news,

3, Imiahble 4. Thrilled
2. [was alarmed at this news,

The song in the play cannol be deleted as 3. ['wasalarmed by him.

tothe story, : iz :
4. [ hadbeen alacmed al this news.

1. Intervened 2. Inmate y
4, Bl down

3. Integral . Exact —
. wou were ardered &0 sitdown.,

She remaimed 8 il ber life, 2. vou had ordered o sitdown

1. l‘;pmﬁh’!r !. F:L'l-d‘.'hE:.:l_:-T 1. wou .'|h.:1_'||:'|_|-:_:||.':|_|.l:-:'tl 14 |_‘|u-l.l.-1:

3. Unmarred 4, Single 4. you hawve boen ordencd to sit down

[ A 15, Moy [ see you pen?

. Do not stay in grasslands after dark as seme animals : Youp
become when they see humans. 1. May you penwill be seen by me?

1, Provoked 2. Alerted 2. May penbe secn by me?

3, ﬂgElL"s.‘i'i‘.-'L' 4. lovenile LR ‘j;]:-,. YOUT RN he seen Ig_-.- me?

Miay | see miy pen through you?
- Dhatand oot 3 YF gh}

I, Complatming ool g

3, thosoughly Aot Q. (186-188.) Change the narration of the following :-

186, “Call the police,” said someoie.

. Didds and ends
I, Someonesupgested that police mustbe called.

l. needless 2, walchlul s
2. Someone suggested that police will be called by

3. strayariichcs declhining mc

3. Someonetold that the police will be called

Fire and sword ;-
4, Some one sugpested that the police should be

l. emergy ., destruction caillea] kB e

bl

A shinin brave i J ; &
. & : She said 1o Tom, “open your mouth.

I. Shewamed Tom to epen mout,

Q.{182-185.) Change the voice :- 1. Ehe ordered Tom to open his mouth.

182, Whobeat you? 3. Sheasked Tom toopen mouth

a s e A T 5 > o
1. By whomwere youbeaten? 4, Shetold Tom to open mouth




I188. Hesaidto me, “Where do vou live™
. Hetoldtomewhere ] showld live
2. Hetoldtomewhera] live

3. He asked to where [ was lived.

. Heasked mewhere | lived.

) (189-196.) In the following passage, there arc some
numbered hlanks, Fill in the blanks by selecting the
most appropriate word for each blank from the given
options :-

Animals have playved a major role in human's lives
throughout history. Today, scientific research is
irying 4o (1 589) the positive aspecis
of living with companion animals, Animals have
becn uwsed as an [(190) form of
ireatment for many years, More recently it has been
discovered that owning a pet can help lower
people’s blood pressure, (121) the
chamcesz of living after a hearl atiack, keep people
more active and provide more (192) _ _z— =
with life. It 15 (193) that this happens
because pets help people become more (194),
provide a means to give and receive (195)
, and help connect us with the
[ 196} waorld

avalve . discover

. provide . imiprart

gltermative . secondary

. mandalory . obligatory

Elaborate 2. elucidate

. cnhance . eradicate

. Satisfaction . lethargy

. discomfort . EMCTEY

. Practiced . supposed
accepied . eorized

Barmg . Workaholic

. social . rechise

|95

| 9

1. Affection . hatred
1. zsolation . precision
1. Artifcial . Armable

3. Natural . Political

Q. (197-200.) Select the word which means the
opposite of the underlined word :-

197

On these tablets, they have inscribed writing which
they wished o preserve

|. Ruin 2. conceal

3. hide 4. proect

The earfiest books were not books in the modem
sense of the word,

|, new 2. ancient

3. current 4. latest

The soldier was reprimanded for ruining his
imimaculate uniform.

|. Bhining

3. Useless

We should have gordigl relations with our
neighbotrn

|. Smoedh . Friemdly

3. Sophisticated




